EItIED Roll No.

B
No. of Questions — 28 P-125-Mathematics (D&D)

No. of Printed Pages — 15

YATIERT (Fh-aRR) (CWSN) e, 2024

PRAVESHIKA (Deaf & Dumb) (CWSN) EXAMINATION, 2024

o

MATHEMATICS
Y : 4 9ue 15 fafee

Ui : 80

e o fore grm= faew :

GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) weeff wayem 379 937 -u W AT JrfHeard: o |
Candidate must write first his/her Roll No. on the question paper compulsorily.
(2) @t T T B A 2 |

All the questions are compulsory.

(3) T T HT I < TS IT-YIeh H & ford |

Write the answer to each question in the given answer-book only.
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(4) T w1 % =N @S 7, 37 AT 6 I T w1 & o |

For questions having more than one part, the answers to those parts are to be

written together in continuity.

(5) TH-UA & Te-dl T TS TUTR § foreft TepR < e / AR / Toatremyme g o fa=gt v
% 9 %I & T A |

If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

(6) I 1 IR foT@ & Yd T 1 sHATh 3199 ford |

Write down the serial number of the question before attempting it.

(7) AT IW-YRIHT % T3 o Ml AR fafgw | Ifg w5 ® HF KA @,
ITR-GETHT o 3TTcH T8 T L 3TN 3 RSt ATl | e 3 W Th R @ < |

Write on both sides of the pages of your answer-book. If any rough work is to be
done, do it on last pages of the answer-book and cross with slant lines and write

‘Rough Work’ on them.
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SECTION - A

1. T sgfaehed w1 § 91 foehed ol T S ST -Jf&de 1 ford :

Choose the correct option of the following multiple choice questions and write

them in the answer book :

(i) Tk URE T 3R Ueh STURET T 1 I A7 31 D T T@ 2 7
(31) i we (@) U g
(®) i wE (%) STpa wE

Which number is the sum or difference of a rational number and an

irrational number ?
(A) Rational number (B) TIrrational number

(C) Whole number (D) Natural number 1
(ii) Hﬁw)c——ao‘r%?r@‘ﬂ
) - q) +T
3 < @ +3
@ *5 @ 5
: . 25 .

The solution of equation x = . will be

A 1 B) +%
(A) % (B) +3

(C) %5 (D) 5 1
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(iii) e Tgema 598 ax? + bx + ¢ % 6 o 3T B &, A o I HAE BT

@ ; @ ¢

@) % (€) U | H hIS &l

If o and B are zeroes of the quadratic polynomial ax? + bx + ¢, then the

value of aff will be

(A) ®) ¢

©) % (D) None of the above

(iv) T fgaTa SgUE o SAehi i Tfehan &A1 Bt &
3 1 ) 2
@ 3 @ 4
The maximum number of zeroes of a quadratic polynomial is
A) 1 B) 2
©) 3 (D) 4
(v) EHIVT TSt 1 Uk IV BT 7
(31) 80° @) 90°
@) 100° @ 180°
One angle of a right angle triangle is
(A) 80° (B) 90°

(©) 100° (D) 180°
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(vi) THfgaTg Brge & ot ot T a2 7

(31) 4 @ 3

@) 2 @ 0

How many equal sides are there in an isosceles triangle ?

(A) 4 (B) 3

€ 2 (D) 0 1

(vii) cos? 45° HTTM B

@ 3 @ B

(@) % @ %

The value of cos? 45° is

™ 3 ® B

© 3 ® 1

(viii) Tk g1 T Feha! TTT=R waef W@Td e dehd & ?

@) T @ T

() (@ XA

How many parallel tangent lines can be drawn to a circle ?

(A) Two (B) One

(C) Three (D) Zero 1
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(ix) I 6 Tt FBrsamd smoe o o Bt § 7

(37) TR | () TEHEAE |
(@) TR A E | (@) ¥ H HIE T
What are all the radii of the circle together ?

(A) Equal (B) Perpendicular
(C) Parallel (D) None of these

(x) sin30° HIANA &

(31) % @ 0
(H) % @ @
The value of sin 30° is

) 3 B) 0
© o B

(xi) sin?45° HTHAH B

(3 2 ® 5
@ 3 @ 3
The value of sin? 45° is

(A) 2 ® 3
© 3 (D) 3

P-125-Mathematics (D&D)



(xii) I h &R BT A &
(30) mr? (&) 2nr
@ 3 @ wHaHE
The formula for the area of the circle is
(A) m? (B) 2mr
© 3 (D) None of these 1

(xiii) fE weh g1 <61 Faa 7 &t g, 1 36T &% &
(31) 154 =i gt (&) 308 @t ot
@) 44 T arft @ 606 a1 Tt

If the radius of a circle is 7 cm, then its area is

(A) 154 cm? (B) 308 cm?

(C) 44 cm? (D) 606 cm? 1
(Xiv) 9 % HeTeh BId &

(30 4 ® 5

@) 6 @ 7

The cube has faces
(A) 4 B) 5

(€ 6 (D) 7 1
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(xv) ST % ITTICH 1 g3 81T &

1
(30) nrh €)) 3 nir?h
(@) mrh @) THHBETE
The formula for the volume of a cylinder is
1
(A) mrh (B) 3 nr?h
(C) mrh (D) None of these

g -
SECTION - B
2. 140 I 31T OHEUS] o UG 5 &9 § e T |

Express 140 as a product of prime factors.

4.  FHIR I 10, 7, 4, ..... o1 309T 9 JTd HIfTT |

Find the 30™ term of arithmetic progression 10, 7, 4,.......

5. PEdAfeaft U a s Ed g ?

How many sides and angles are there in a triangle ?
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6.  GERIU BAYST i il i |

Define right angle triangle. 1

7. A Gl fogaTl W Afaese i et 1@ I 1 Fad § ?

What is the line that intersects the circle at two points called ? 1

8. afe ferelt vigp Y erats (h) 12 At e Breenm 5 At 3, @ 3ueht fodes =g
HIRTT |

If the length of a cone (h) is 12 cm and radius is 5 cm, then find its slant height. 1

9. QI Al ohl TR T 31U 2 : 3 &, $oh! FIST3T o1 STUTd F1d ShIfT |

The ratio of the circumferences of two circles is 2 : 3. Find the ratio of their
radii. 1

Qg -|
SECTION - C
10. T @R T 10 T&=t sl Txaeh qn 15 7 hl Jdeh W@l & | Hia1 T I
Agesd] FHeRTerd! &, ST hifeTg —
(i) o< < g&aeh M i Sl |
(i) TTfoTa <At qeh 3T T TRk |

There are 10 Hindi’s books and 15 Mathematics’ books kept in a cupboard.
Sita takes out a book at random. Find out

(i) Probability of Hindi book coming out.

(i1) Probability of Mathematics book coming out. 2
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11. =8 < TU1 y’ 1 I A1d HINT -

Eu] AT f cf.
0-10 x=7? 5
10-20 6 11
20-30 3 14
30-40 2 y=7?
Find the value of ‘x’ and ‘y’ in the following : 2
Class Frequency f c.f.
0-10 x=7? 5
10-20 6 11
20-30 3 14
30-40 2 y=7?

12. o3t (2, 7) 3R (8, 5) ®I M a1t W@r@ve & 7 foag P % fewm @
HINT |

Find the coordinates of the middle point P of the line segment joining the

points (2, 7) and (8, 5). 2

13. T 6 3T 20 IS OHETE 5 & H.C.F. 3R L.C.M. F1d shifT |

Find H.C.F. and L.C.M. of numbers 6 and 20 by prime factorization method. 2
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14, g9E x2 — 3 % I[I%h ATA hITTT AT I[Aehi T JNT & U 1T 11T |

Find the zeroes of the polynomial x> — 3 and find the sum and product of

Z€rocs. 2

15. 3fe Tordft aum=ax &) & 9| 37 37fe 9ei o1 T 49 B, 1 39 16 eI hl ANTHA
1 I |

If the sum of the first and last terms of an arithmetic progression is 49, then

find the sum of its 16 terms. 2

1 — tan? 45°

1+tan2450$ﬂ:|'|:[3|'|?[ |

16.

1 — tan? 45°

Find the value of 1+ tan2 45°

17. foret g <ht aitfy 88 Tl &, 1 <t =1 ATH HT HIfT |

If the circumference of a circle is 88 cm, then find the diameter of the circle. 2

T Ug - ¢

SECTION - D

18. 20 Sdl o Teh g H 4 §cd GUE & | 389 T8 H § Th dod AGgosdl Hepral Sl

2 | 39! 1 ITRIehdl 2 b I8 Jod @S BT ?

A lot of 20 bulbs contain 4 defective ones. One bulb is drawn at random from

the lot. What is the probability that this bulb is defective ? 3
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20.

21.

22.

23.

24.

12
foretom fafer & fr IRaeh wvieRtor I ol g I -
x+ty=5
2x -3y =4
Solve the following pair of linear equations by elimination method :
x+ty=5
2x -3y =4

Sirer <hifSe fop = o fgema wfientor & 3t 78 -

x2x+3)=x2+1
Check whether the following quadratic equation holds or not :

x2x+3)=x2+1

T 1000 & qUTTehT ShT 1T AT HITT |

Find the sum of first 1000 positive integers.

3 Ot e et 9 o g | 5 Eell g R foreg P & T Y Wil S @, i
=1 TS [ I |

A tangent line is drawn from a point P situated 5 cm away from the centre of a
circle of radius 3 cm. Find the length of the tangent line.

cosec? 45° - sec2 30° - sin2 90° - cos 60° ST HM JTd HIfTT |

Find the value of cosec? 45° - sec? 30° sin? 90° - cos 60°.

Ife Th TR o TP TS &1hat 48 7 o1 ST 7, A1 38eh1 ATE feTfa |

If the total surface area of a hemisphere is 48 1 cm?2, then write its diameter.
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Qg -

SECTION - E

25. 9fe U T o HATUR | 40 Mt ¢ fRd forg W v o ot fR 61 3= =i
60° B, 1 TIF <hl TS JTd HIfT |

If the angle of elevation of the top of a pillar at a point 40 meters away from

the base is 60°, then find the height of the pillar. 5

3T/ OR

10 Hiex et HAR 6 TBTE hl TS = B, Tefch T 1 I+ I 30° 7 ?

What will be the length of the shadow of a 10 meter high tower when the angle

of elevation of the sun is 30° ? 5

26. T3 ST S ST AHT=R 2L H1d hITTT :

1t 0-6|6-12]12-18 | 18—-24 | 24-30

AT 6 8 10 9 7

Find the arithmetic mean of the following frequency distribution : 5

Class 0-6 6-12 | 12—-18 | 18—-24 | 24-30

Frequency 6 8 10 9 7

3AYET/OR
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27.

28.

14
100 ST o qTeTen = Tfeeft o fo 7 8, 378 mresres ;i i

HTedTeh 20-30 | 30-40 | 40-50 | 50-60 | 60—-70 | 70—-280

EIEIEIRSC] 6 20 44 26 3 21

The marks of 100 students are given in the following table. Find its median.

Marks obtained 20-30|{30—-40|40-50|50-60|60—-70|70-80

Number of Students 6 20 44 26 3 21

3 foreg o THqeTTes F1a <RI ST feimg 3l (3, 2) 3R (4, 5) i feTH aTel TErae i
2 : 3 Y A foamfoa st 2 |

Find the coordinates of the point which divides the line segment joining the
points (3, 2) and (4, 5) in the ratio 2 : 3.

JAYAT/OR
farmgati (5, —6) 3R (-1, —4) I TS aTe! [@EE i y-31& fohg uma & oo
HAT ] 7 3 i fomg & fdames oft 7ma Aifve |

Find the ratio in which the y-axis divides the line segment joining the points
(5, -6) and (-1, —4). Also find the point of intersection.

Teh TAST T8 37 Ueh =fict T <hl Ueh T1Y Wheb wiTaT 2 | Tefit genfera afvormi =t foran
SATAT 2 | SEeh! T ATRrehd 2 Toh QAT Ul ohl TRenai <1 ART (1) 8 B (i) 118 ?

A gray die and a blue die are thrown together. All possible outcomes are
written down. What is the probability that the sum of the numbers on the two
dice (i) is 8 (i1)is 11 ?

3AYET/OR
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T feod T 5 AT ohel, 8 Fhe ohdl 3R 4 R ol & | 39 feod § | T ohall A=

frepTetT ST 2 | 39h! %= ITRIehdl 2 o Tt T3 <heim —

(i) oz ?

(i) ¥HeE ?

(i) BT S ?

A box contains 5 red marbles, 8 white marbles and 4 green marbles. One

marble is taken out of the box at random. What is the probability that the

marble taken out will be
(i) Red?
(i) White ?

(iii)) Not green ?
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